|

R
Tl

| Irnpertaht Note: 1. On completing your answers( _. Jhpul-seril'y draw _dia.g'eln'al eress"lines on the remeihing b{ ‘pages.

50, will be treated as malpractice. o

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8 :
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J N - 06CS63

Slxth Semester B.E. Degree Exammatmn, May/June 2010
' o C:ompller Des:gn ' -

 Time:3hs. T LR Max Marks 100

Nete Answer any FI VE full quesimns, selectmg
' at least T WO questwns fmm each part

PART A

Ex;plam W1th a neat dlagram the phases of a cempller . (10 Marks)
. Construct a transition dlagram for reeegmzmg U.nSIgned numbers. Sketch the program
| ';segment to nnplement it, showmg the ﬁrst twe states and one ﬁnal state (10 Marks)

. Explam the left recursion and shew how 1t 1S ehmmated Deserlbe the elgerlthm used for

eliminating the left recursion. LT (06 Marks) -

- b. Eliminate left recursion from the grammar A

~ S—>aB|aC|Sd|Se -

'-"-'B"”)Bﬂf . S .
Cog (02 Marks)

. Given the grammer S | o el ' '

- S->@M)}|a

'L—-—>L SIS | ' - N

Sl ) Make necessary ehanges to Inake it suttable fer LL( 1) parsmg

i) Construct FIRST and FOLLOW sets -

i) Construet the predlctwe parsing table Bete i TS U

e 'w) Shew the move S made by the predl ctzve parser en the mput (e (a a)) (12 Ma rk5) L

a. Obtama set ef canemcel LR(O) 1tems fer the grammar o aE (03 M‘arks)
-8 -_>R .
o '.-L—--J»'id
s the grammar in Q3(a) SLR(I)’? lee veasons. - (04 Marks) -

. What is handle pruning? Explain with the help of the grammar S —» SS + ISS*Ia and input
_.strmg 33&*&++ Give a bottom-up pe:rse of the given mput strmg R (03 Marks)

. leen the grammar

S>> AA

"--',_A-aAalb A

i) - Construct sets efLR(l) 1tems _ R L D
~ii)  Construct canonical LR(1) parsing table Lo  (12Marks)
. Write a note on the Parser generator — Yace. =~ (04 Marks)
. 'Write the Yacc spec1ﬁeat10n of a smple desk ealeulater wﬂ:h the follemng grammar for
~arithmetic expressmns ' T B S
E->E+T|T

T—}T*F']F

B Where the teken d1g1t 1s a smgle dlglt between 0 and 9 - - (M4Marks)
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PART-B

. Explain the eoncept of Syntax-direeted definition. . R '(04 Matkst |

COHSlder the COIltEX“t-ﬁ‘ee grammar glven bﬁlow . R o | ' . ' .. . (08 Marks) i .-

o E—>E+T|E T!T

T>T+*F|T/F|F

F- (E)| dlglt
N—o;

1) Obtam the SDD for the above grammar

i)  Construct the parse tree, syntax tree a:nd annotated parse tree for the mput stnng;-:_ |
56 +7;, .

Obtain the post-ﬁx SDT fer the grammar in Q S(b) and 111ustrate the eorrespondlng parser

| stack Implementatlen - S (08 Marks)

'Obtain the drreeted acyehc graph for the expressmn a + a* (b — e) + (b — c) * d Also grve N

the sequence of steps for constructing the same. .- o (06 Marks)

Translate the artthmetle expressmn a+ --(b + c) mto quadruples trlples and 1nd1rect triples.
. - - o (06 Marks):'-"-"_- N
, ]EXplarn the syntax-dlrected translatlon of smteh—statements . (o8 Marks) i

" a. Describe the general structure of an activation reeord Explain the purpose of each item in

the activation record. "I (06 Marks)
Explain in detail, the strategy for reducmg fragmentatlon in heap memory. (08 Marks)

'Explam brleﬂy the perferma.nce metncs to be con51dered whlle desrgmng a garbage o

~Discuss the issues in the desrgn of a eode generator. (10 Marks)
. .What are basre blecks and how do yeu partitlen a three-address-code 1nto basre blecks‘? R
'- (05 Marks) e

Wnte the three-address code and eonstruet the basu: bloeks for the fellomng pro gram

- segment.

Sum = (;
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